333
PA-1573 ON SALE NOW l

WHEN ANY OF YOUR NUMBERS MATCH EITHER WINNING NUMBER,

WIN PRIZE SHOWN UNDER THE MATCHING NUMBER. o
CHANCES ARE  CONSOLIDATED

WIN WITH: WIN: TIN: CHANCES ARE 1 IN:

$2 $2 9.38 $2=9.38

$3 $3 18.75 $3=18.75

$5 $5 30.00 $5 = 30.00

$2x5 $10 1,500

(52 w/ 3X) + ($2x 2) $10 88.24

$10 $10 1,500 $10=78.95

$5x3 $15 1,500

($3 w/ 3X) + (52 w/ 3X) $15 375.00

$5w/ 3X $15 375.00

$15 $15 1,500 $15 = 150.00

$10x3 $30 1,500

(53 w/ 3X) x 3) + $3 $30 750.00

($5w/ 3X) x 2 $30 1,500

$10 w/ 3X $30 150.00

$30 $30 1,500 $30 = 100.00

$10x6 $60 12,000

$30x 2 $60 12,000

($10 w/ 3X) + (S10 x 3) $60 1,200

($15 w/ 3X) + ($5 w/ 3X) $60 1,600

$60 $60 12,000 $60 = 585.37

$10x9 $90 12,000

$15x6 $90 12,000

(155 w/ 3X) x 4) + (($3 w/ 3X) x 2) + (65 x 2) + 62 $90 12,000

(510 w/ 3X) x 2) + (($5 w/ 3X) x 2) $90 12,000

($10 w/ 3X) x 3 $90 12,000

($15w/ 3X) x 2 $90 4,000

$30 w/ 3X $90 4,000

$90 $90 12,000 $90 = 1,000

($15 % 4) + (510 x 3) + ($5 x 2) $100 24,000

($15 w/ 3X) + ($10 w/ 3X) + (55 w/ 3X) + ($5 x 2) $100 24,000

($30 w/ 3X) + ($3x 2) + ($2x 2) $100 24,000

$100 $100 24,000 $100 = 6,000

($100 w/ 3X) +$30 + $3 $333 120,000

$333 w/ 333 SYMBOL $333 24,000 $333 = 20,000

(333 w/ 333 SYMBOL) x 2) + ($100 x 3) + ($15 x 2) + (52 x 2) $1,000 840,000

(5333 w/ 333 SYMBOL) x 2) + ($90 w/ 3X) + ((S10 w/ 3X) x 2) + ($2x 2)  $1,000 840,000

$1,000 $1,000 840,000  S1,000 = 280,000

$20,000 $20,000 840,000  $20,000 = 840,000

REVEAL A" 3 " (3TIMES) SYMBOL, WIN 3 TIMEs THE PRIz sHowNunDEr ~ OVERALL CHANCES

THAT SYMBOL. REVEAL A" 333 " (WIN333) SYMBOL, WIN $333 OF WINNING: 1 in 4.43

INSTANTLY! Prizes, including top prizes, are subject to

availability at the time of purchase.
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